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General Instructions :
Read the following instructions carefully and follow them :

(1) This question paper contains 30 questions. All questions are
compulsory.

(it)  Question paper is divided into five Sections — Section A, B, C, D
and E.

(iti) Section A - Question Nos. 1 to 17 are Multiple Choice (MCQ) type
questions. Each question carries 1 mark.

(tv)  Section B - Question Nos. 18 and 19 are Source based questions. Each
question carries 3 marks.

(v)  Section C - Question Nos. 20 to 23 are Short Answer (SA) type
questions. Each question carries 3 marks. Answer to these questions
shall be written in 80 to 100 words.

(vt)  Section D - Question Nos. 24 to 28 are Long Answer (LA) type questions.
Each question carries 5 marks. Answer to these questions shall be
written in 120 to 150 words.

(vit) Section E - Question Nos. 29 & 30 are Map based questions. Each
question carries § marks.

(viit) In addition to this, NOTE that a separate question has been provided
for Visually Impaired Candidates in lieu of questions having visual
inputs, map etc. Such questions are to be attempted by Visually
Impaired Candidates only.

(ix) There is no overall choice given in the question paper. However, an
internal choice has been prouvided in a few questions in all sections other
than Section A.

SECTION - A
Question Nos. 1 to 17 are Multiple Choice Type Questions. 17x1=17)

1. Two statements are given below. They are Assertion (A) and Reason (R).
Read both the statements carefully and choose the correct option : 1
Assertion (A) : All manufacturing industries are associated with raw

materials.
Reason (R) : Resources are essential for human survival.
Options :
(A) Both (A) and (R) are true and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(C) (A) 1s correct, but (R) 1s incorrect.
(D) (A) 1s incorrect, but (R) 1s correct.
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2. Trafefed @ @ % 9 @1 9 graf-ud U 98 § ¢ el fashed gihw |
i. YT § @S BT STAT TSR T §RAR a9 o ot foham st o |
i, ot fepfira <wr 31 foepma o foru aaferes @t =i freprera £ |
iti. @ o ARt fehE STERTeh Shifd o qeaTd 33T |
iv. @I Sl @it 1 3 T 2 |

foreq -
(A) had ii, 1ii IR iv TH 7 | (B) <hae 1, i1 I iv TR 7 |
(C) <hadT 1, 11l ST iv T& 7 | (D) <had 1, il 3T iii HET & |

3. Trmfefea @ 9 wqgeie framenamd 6t y@ foemar i gga Hifvw
(A) T & fore a8 @i o1 e @ gafed 2 |
(B) ¥Z Hed HIcT ol (IR 3cUTG H FCAARL 3 ool H Jig i 9 e 2 |
(C) Ig Aq8YH td foshra @ Tafed 7 |
(D) % FHTS o ¥ AT hl a1 § HEfd 2 |

4. URwEn % fEfafad aguEl o 3R sEfRfa % mar | uftaw ¥ 1@ et
HIT 37T T forehed T == HIfST |

i it ii. I

iii. 3¢ iv. ga3
fererey

(A) 1iv, iii, i1 31 (B) v, iii, 1 3 ii
(C) iii, iv, il 31 (D) iii, iv, 1 3 ii

5. Weh YT o gRI T shl ST arefl aqd vget fefr= <ol & o1g STt 8 | 39 YR % U
Eq) S ETY JET AR |
(A) foregd oeH (B) ST (3T3e) T°H
(C) 3T U= (D) Tehe WIA

6. WRA o doINNEA HREMI hl ST & 3T feun T I7eh! ATl o AR W =afedd
HIFT 37T T forehed o1 == HIfST |

i g ii. wifa

iii. Tl iv. WcR
forerey

(A) i, iv, iii 31 (B) ii, iv, 1 3 iii
(C) iv, ii, 1 3M iii (D) iv, ii, iii 3R i

7. TSTEIT &L o TUH =0T o AT o et sht e i |

(A) SEe (B) e

(C) Siug (D) TR
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Which of the following statements are correct related to mining ? Choose
the correct option :

1. In ancient times minerals were used to make tools and weapons.

1. All developed countries are extracting more minerals for their
development.

1. The actual development of mining began with the industrial
revolution.

iv. There are many stages in the discovery of minerals.
Options :

(A) Only 11, 11 and iv are correct. (B) Only 1, i1 and 1v are correct.
(C) Only 1, 111 and iv are correct. (D) Only 1, 11 and 111 are correct.

Identify the main characteristics of quaternary activity from the following :

(A) Itis associated with extraction of minerals for development.

(B) It is confined to increase the value of raw materials into finished
products.

(C) Itis concerned with research and development.

(D) Itis linked with serving all the people of society.

Arrange the following airports of Asia from west to east as per their
locations and choose the correct option :

1. Beijing 1.  Tokyo

1mi. Aden 1iv. Mumbai
Options :

(A) 1iv, 11, 1 and 1 (B) 1iv, 11, 1and 11
(C) 1, iv,iiandi (D) 11, 1v,1and 11

The exported items by a port is first brought from different countries. This
port is known as )

(A) Comprehensive Port (B) Outports

(C) Entrepot Ports (D) Packet Station

Arrange the following oil refineries of India from south to north direction
as per their locations and choose the correct option :

1. Mumbai 1.  Kochchi

ni. Kayali iv. Mangaluru
Options :

(A) 11, 1v, 111 and 1 (B) 11, 1v,1and i1
(C) 1iv,11,1and 111 (D) 1iv, 11, 111 and 1

Identify the district of first phase of construction of Rajasthan canal.

(A) Jaisalmer (B) Barmer
(C) Jodhpur (D) Ganganagar
Page 5 ~ P.T.O.



8. Trfefaa @ @ 1 it 31 sfean fafite (1e1) & g&a 3899 i vg=H Hifvu |
(A) 319 feai 7 ehfaeh 19 1 IREeH T =9 T |
(B) T8 T THERIUT 3R forfir= U] &bl 3TTee T |
(C) Tehfcieh 718 <1 TTEEH, TRl 3R foduM T |
(D) 3Tk AW o ToTu WeTia STehfaeh 7 <6t farsht sve |

9. =g e feg e B | 3 iR (A) 3R ST (R) B | GFT AT 1 eagEeh afey
IR &l ferehed 1 =9 hifvT |
ARMH (A) : RA o AU SR § ToT TNEE Teh Tewaqu! et fHamar g |
SO (R) @ YRA o Ufeay d¢ <hl 37Uef 7ol de T 31feeh oA ¢ |
foerea
(A) THI (A) 1 (R) 921 8 3T (R), (A) 1 98 = ¢ |
(B) @I (A) @1 (R) &1 &, <ifehd (R), (A) 3! 62l =T 781 ¢ |
(C) (A) &&lg, @ifehd (R) T 2 |
(D) (A) T 7, T (R) T&1 7 |

10. @< wRa feA’ % 91 # fFAfafea T2 @1 emgEs afet 3R 98 foshed 1 ==b
it |
i I8 W&l o Teiehtor firee o fee R |
i, SET IRY YR TR A fema |
iii. g W&l & § gferelt 1 e 4 gefa © |
iv.  3EehT 3¢9 Wgh gft SfEl (slums) § Sfia sl Toresdt § guR ST 2 |
Toreped

(A) ha 1, 11 I il TE 2 | (B) <had ii, iii 3 iv HET & |
(C) el i, ii IMivES B | (D) haed i, iii 3R iv T B |
11. F=faRad 3 3@ «=f4 o w9 6 3618 6 1= Hifvw |
A) Huufa @ (B) &
(C) U9l &SR (D) Fifiex
12. Trafefaa e it 33t fosman @ wafea & guferd 3w w1 === i |
(&) (ferwad)

(A) s e —  ofte S
(B) TG — TIEd! S
(C) R dgdied — Shoi-3fiof =X
(D) GWETHEE — Wil Jgu
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8. Identify the main objective of Gas Authority of India Limited (GAIL) from
the following : 1
(A) To transport and store natural gas at its depot.
(B) To process and allocate natural gas to different states.
(C) To transport, process and market natural gas.
(D) To sale, stored natural gas for greater profit.

9. Two statements are given below. They are Assertion (A) and Reason (R).
Read both the statements carefully and choose the correct option : 1
Assertion (A) : Water transport plays an important role in the

international trade of India.
Reason (R) : The east coast of India has more ports than its west coast.
Options :
(A) Both (A) and (R) are true and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(C) (A) 1s correct, but (R) 1s incorrect.
(D) (A) 1s incorrect, but (R) 1s correct.

10. Read the following facts about ‘Swachh Bharat Mission’ carefully and
choose the correct option : 1
1. It is a part of urban renewable mission.
1. It is launched by Government of India.
umi. It is associated with improving greenery in urban areas.
iv. It is aimed to improve quality of life in urban slums.
Options :
(A) Only 1, 11 and 111 are correct. (B) Only i1, 111 and iv are correct.
(C) Only 1, 11 and iv are correct. (D) Only 1, 111 and iv are correct.

11. Identify the unit to measure sound from the following : 1
(A) Particles per hundred (B) Decibel
(C) Particles per thousand (D) Nanometer

12. Choose the correctly matched pair of areas and their characteristics from

the following : 1
(Areas) (Characteristics)

(A) Jhabua District - Bhil Tribe

(B) Daurala Meerut - Gaddi Tribe

(C) Bharmaur Tehsil - Dilapidated Houses

(D) Dharavi Mumbai - Groundwater Pollution
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13. ‘g freeife et amd afsmnst @ Sy & s 55 € 17 % 8 gefa wd
Torshed oh1 = SIS |

i, TUHidid Hisa & ii. A e
iii.  afa =AETE iv. YR &=
foreney -
(A) o ii (B) T ii 9T iv
(C) <had iil (D) T 19 iii
14. o vore i gfd < foe Tt foshed s === Hifaw
319 & 6 2050 o forva e el &= | @ |
(A) T AT (B) ameht
(C) i fererg (D) <t =g
Frefefaa arfetert 3Tt 3798 &1 ufew 3 uw 15 7 17 1 3 fofaw |
e ferem i StaRigh germmd
H174 fdHrG gaif
S forehrE w1 &R e forehTe gaehieh 1 @R
fd 3= 0.800 & FT
3= 0.700 9 0.799 % =
ey 0.550 9 0.699 & =
= 0.549 9 g

I A TerehTd aret <ot <t f31eT 3TR Tomeesy Tan3ti bl 3uetedt ShUAT T fHehdT & |
J HHTTh @ | §5d Mo R @ 7 | A 3R G § Ik (ae1 5 39 391 b <1 i
31 < O T AT o fean @ |
g fohE % A2 TR AT e <ot a1 fosm gt fava 3¢ & s1g A
FAfT T I 8 | §TH © 3T oW 3ATeeh cAreng@] el bl STt T AT HedTa
1 QL hLeh ol § 31T A FrehTd @hR H IR & 2 |
15. 3=F A4 b 9Tl <1l o |12l Herd HewIqul i AR B R |
(A) I ek | 3iftehan o (B) T &1k H Afvenad fAaw
(C) 3itEnfiren foshr # Afeehan Fowr (D) MY forhm o atferspaw faw
16. HIe ferhTd o Team Tl aTel < 8 1fires gum fafga g g |
(A) Terepra gafera ife=n gra (B) waferer wafera Hfife=i gra
(C) 3mefes o1 3menfa Hifa=t g (D) TS 3T it gry
17. fre=fafaa o & & o1 37k UHa fohra gerehie & e Suft o Hiur=a i gurfar & 7

(A) 0.049 (B) 0.099
(C) 0.149 (D) 0.199
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13. “Some wastelands are rendered unfit for agriculture by human activities.”
Choose the correct option related to the statement :

1. Shifting cultivation area 1.  Coastal plains
1i. Degraded pastures iv. Bhabar areas 1
Options :
(A) Onlyun (B) Bothii and iv
(C) Onlyin (D) Both1i and 111
14. Choose the correct option to fill the blank :
By 2050, the world population is estimated to live in urban areas is i 1
(A) One fourth (B) Half
(C) Two third (D) Three fourth

Read the following table & passage and answer Question Nos. 15 to 17 :

International Comparison of Human Development
Human Development Categories

Level of Human Score in Development
Development Index

Very High above 0.800

High between 0.700 up to 0.799
Medium between 0.550 up to 0.699
Low below 0.549

The priority of countries with high level of human development is
providing education and healthcare. They are investing more in social
sector. Altogether, a higher investment in people and good governance has
set this group of countries apart from others.

Countries with medium levels of human development have emerged in the
period after the Second World War. Many of these countries have been
rapidly improving their human development score by adopting more
people-oriented policies and reducing social discrimination.

15. The most important factor applicable with high human development
countries 18 1
(A) maximum investment in social sector.

(B) maximum investment in service sector.

(C) maximum investment in industrial development.
(D) maximum investment in agricultural development.

16. Greater improvement among the medium level of human development

countries is marked by 1
(A) Development related p011c1es (B) Environment related policies
(C) Economy oriented policies (D) Society oriented policies

17. Which one of the following score of human development index shows the
range for Medium category ? 1
(A) 0.049 (B) 0.099
(C) 0.149 (D) 0.199
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Y3 EEAT 18 TS 19 Gid—- AT I & | (2x3=6)

18. Tm=feRaa srgese = smydes ufeu 3t 3ges F9 fou e yei & 3o faf
Tk AR 6l R
MR 2 STTEATT B! Wiet 1 SR Teh ST SFUET SR IGRIHUT b & H FHT
SITT & | IE 1 AR 3Taiet S8 EmT Yosh sl BeTeRt foharm STt 2 | BRe] 3Tel U
T3 § il i o [T AR IGRIAT 9t T § S&qall 3R a3l & g
ST S LT ¢ |
SR TR Tk SATIR fershTeeiicl ¢RIl shl STISIaEAT3T ohl 3 W fdhel Shed

T9d G qUT 3¢ [oRhI o THM TR 7 ¢t g TE | TWIfad ot ehd & | IRaeT T8
H G < foehrd o A € gl U et wged <kl sra s id § T g &l a
Ugd Tehel & | fohg g SHTIR 1 Sheet U < S GRT & STSIRI ohl 3T T& of ST
gL
sfceh ferepfera <ul 1 =1few o 9 3197 Tl & STeRT ol fereeft Ieme) & wfera wd |
STt <l oft S9 <1 TS TEGIT W Tcieh Te <hl STTATIhd &, (o Geh SATIR o T 58 ThR
o1 T ol <hl €T <hl TS FEGU TLe] SATGehI ohl JHET TE= Hehell & |
(18.1) ‘SR IEKIHWT T 7Y TT HIRT | 1
(18.2) ‘uSEliol 3N ‘b AR A foehrasiicr guit shi rierawenati i fhd TR

wuTfera fopam 2 2 1
(18.3) ‘b RN & AHNIHH Y9E & s= o foTu foeprasficr <o o1 1

=R 7 Fohmel G1 ST T Ieehd HINT | Vet %=1
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SECTION - B

Question Nos. 18 and 19 are Source Based Questions. (2x3=6)

18. Read the following passage carefully and answer the questions that

follow :
Case for Free Trade

The act of opening up economies for trading is known as free trade or trade
liberalization. This is done by bringing down trade barriers like tariffs.
Trade liberalization allows goods and services from everywhere to compete

with domestic products and services.

Globalisation along with free trade can adversely affect the economies
of developing countries by not giving equal playing field by imposing
conditions which are unfavourable. With the development of transport and
communication systems goods and services can travel faster and farther
than ever before. But free trade should not only let rich countries enter the
markets, but allow the developed countries to keep their own markets

protected from foreign products.

Countries also need to be cautious about dumped goods; as along with
free trade dumped goods of cheaper prices can harm the domestic

producers.
(18.1) Explain the meaning of ‘trade liberalisation’. 1

(18.2) How have ‘globalisation’ and ‘free trade’ affected the economies of

developing countries ? 1

(18.3) What should be done by the developing countries to protect from

negative impact of ‘free trade’ ? Mention any two steps. Yo+l =1
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19. ‘HATRTATs IREEEiE e AT 1 FAEIIE hife 3K 39 9 o T e i &
?H(%TF@Q:

120° 130° 140° 150°E

10°

207 ¢

309

110° 120° 130° 140° 150°

(19.1) TETEIT % forg W H 38 {7 -oired fa 8 2 1
(19.2) 38 ITTHTT o TRMI ol TgoH hifoe ST ‘A’ duT ‘B h &0 d Afha g | %+ %=1
(19.3) 39 (ot < God 09 SR dod ufvem A fRa R wemis Tm fafew | %+ %=1

e : FrfeiRaa w1 e gferia whefi < foe s @ 19 % AW R |
19. ‘Areforars urmsT e mnt i foredt i forsiwanati w1 oo ifsr | 3
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19. Study the map of ‘Australian Trans-Continental Railway’ and answer the

questions that follow :

120°

140° 150° E

10°

20

.....

309

e

T Pjor{_Augl_l“ B

CTRAL SEA

20°

30°

Port Pifig

—] 40°
TASMAN SEA| S

110°

120°

130° 140° 150°

(19.1) In which part of the continent this railway line is located ? 1

(19.2) Identify the stations of this railway marked as ‘A’ and ‘B’. Y%b+%=1

(19.3) Write the names of stations located at the eastermmost and

westernmost end of this railway. Yo+l =1

Note: The following question is for Visually Impaired

Candidates only in lieu of Question No. 19.

19. Describe any three characteristics of the ‘Australian Trans-Continental

Railway’.

64/1/1
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9 G 20 § 23 AY-SA0T THR b T & | 4x3=12)
20. (a) “¥epld N AT ATLeAd T 39E § IS §UE |” 59 B 1 ferverwr HIfT | 3
YT
(b) “HIS Yehfcl YeT T T ITAN AT & |” 38 HH 1 foweryor Hifr | 3
21. TTHIOT 3R T STSIR el H 3CTWT Higd 3Tt T8 hifT | 3
22. YRA H gdd TN foerm@ o foTw Sll o STOOTd Sl sl ST 41 T I ?
ISR |fEd ST i | 3
23. f=feiRaa drferent o1 eaYEeh 1 hiIfTT 37R 36 e feu 7T weHi o1 3T foifa | 3
YR ~ TRIF %1 ¥grdi 1961-2011
EQ TR/ | TRESEET | AT | quehR gty
YpAlhIEE | (RIE) | SHEEEIH % (%)
1961 2,365 78,936.6 17.97 26.41
1971 2,590 1,09,114 19.91 38.23
1981 3,378 1,59,463 23.34 46.14
1991 4,689 2,17,611 25.71 36.47
2001 5,161 2,85,355 27.78 31.13
2011 6,171 3,77,000 31.16 31.08
(23.1) forg SHTUHT Y H FRIT SEEA 6 Guehiy gig qod Al g H TR ?
(23.2) WRA H TRIT SHEAT 3hi g g3 TG hl ST SHIT |
(23.3) WA ¥ fat Sl g TR <l T o1 fogersor ST |
g g -g
T3 HEAT 24 § 28 Fe-STHT THR B T 2 | (5 x 5 =25)
24, IYETE 3R ITEE IeQ] I TRITNG hifST | fava T SHifhehi Hshavr g b1
Tergetwor Hifs | 2+3=5
25. (a) “3E Sl sEfedta o1 Ffvad s § aieeT o Tewyet e fard 2 1
3TN Higd 39 e ol =T 38Usy | 5
AT
(b) “30 HN R T @ ENfrs vl & g fomen S 7 17 e afgd |
U Sl I 38T | 5
26. (a) ‘@eg & FEeE &1 o oy e | foem % fau wigm & fee R
AT hT TTeTSoT SHIfTT | 1+4=5
FAYET
(b) ‘weRr e &1 31 Ty Hifse | wER 87 T gafag s foe™
GRS o TTOTTH] %1 Geaieh hIT | 1+4=5
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SECTION - C

Question Nos. 20 to 23 are Short Answer Type Questions. (4x3=12)
20. (a) “Nature and human are intricately inter-wined.” Analyse the statement. 3
OR
(b) “Human beings utilize the opportunities provided by nature.”
Analyse the statement. 3
21. Differentiate between rural and urban marketing centres with examples. 3
22. Why should non-conventional sources of energy be used in India for
sustainable development ? Explain with examples. 3
23. Study the following table carefully and answer the questions that follow : 3
India - Trends of Urbanisation 1961-2011
Year Number of Urban % of Total | Decennial
Towns/UAs | Population (in | Population Growth
Thousands) (%)
1961 2,365 78,936.6 17.97 26.41
1971 2,590 1,09,114 19.91 38.23
1981 3,378 1,569,463 23.34 46.14
1991 4,689 2,17,611 25.71 36.47
2001 5,161 2,85,355 27.78 31.13
2011 6,171 3,77,000 31.16 31.08
(23.1) In which census year, the decennial growth of urban population is
the highest.
(23.2) Explain the increasing trend of urban population in India.
(23.3) Analyse the continuous increasing trend of number of towns in India.
SECTION - D
Question Nos. 24 to 28 are Long Answer Type Questions. (5 x 5=25)
24. Define the terms immigration and emigration. Analyse demographic
transitions theory in the world. 2+3=5
25. (a) “The cost of transport plays an important role in location of
industries.” Justify the statement with examples. 5
OR
(b) ‘Dairy farming is practised mainly near urban and industrial
centres.” Justify the statement with examples. 5
26. (a) Explain the meaning of ‘target area planning’. Analyse the need of
‘target area planning’ for development. 1+4=5
(b) Explain the meaning of ‘regional planning’. Assess the outcomes of
‘Integrated Tribal Development Project’ in Bharmaur region. 1+4=5
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27. (a) “YRAE & A A TG AR IR I G S o |19 S gig 7 ot JieH

feam 3 17 SuzRh Rl % A1 37 A 1 g HIf | 5
JHAYAT
(b) “HB AU SR o Toq ATl ool o1 e ferehrar 81 @1 8 17 SuFeh dehl
ZH 38 YU 1 g IR | 5

28. (a) TeruTR ud Fanaii & wmy foshm o foTu wra <At “Tgi Far Hifd’ =1 gere i |

(2]

Jrean

(b) R ¥ foReT U Farati o gHu foepmd o fotu 3um gEmsv | 5
g - §

¥ AT 29 T 30 WA ST =1 & | (2 x 5=10)

29. feu mu fava & yoifass War-aHfes # wd imfaes d@eaoi w1 A, B, C, D, E, F 3R G
& %9 ¥ 3iferd foran a1 7 | Ffaiftaa Seet bt geran 9 foredl aie <l ugaH hifsg
3 37k G2 19 39k GHIY Wiwh 78 W31 R ferfigu : 5x1=5

A, T gE G-I

B. T V4@ dg-ucH

C. U AR FA-TR

D. <cleTH IS[ERTT 1 Ueh Y0 &5

E. o U3eE UTe 1 U Y9@ &

F. forqa anforser 3Tt Y o1 woh v &
G. fufta =iy 1w @ &=

64/1/1 Page 16 ~



27. (a) “Indian Railways have facilitated the movement of both freight and
passengers and contributed to the growth of economy.” Support the

statement with suitable arguments. 5
OR

(b) “Indian ports have continuously been growing for successful
international trade.” Support the statement with suitable

arguments. 5

28. (a) Evaluate the ‘National Youth Policy of India’ for overall development

of youths and adolescents. 5
OR
(b) Suggest the measure for overall development of youths and
adolescents in India. 5
SECTION - E
Question Nos. 29 and 30 are Map Based Questions. (2x5=10)

29. On the given political outline Map of the World, seven geographical
features have been marked as A, B, C, D, E, F and G. Identify any five

with the help of following information and write their correct names on the

lines drawn near them : 5x1=5
A. A major sea-port

B. A major airport

C. Aninland waterway

D. A major area of nomadic herding

E. A major area of commercial livestock rearing

F. A major area of extensive commercial grain farming

G. A major area of mixed farming
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e : Frfafaa wev e gfenfia wlemRi o foe we g 29 & WA W E | 6l
91 % W AT ; 5x1=5
29.1  <fRuT 3T5hIehT o Y@ HHE -1 o1 A fIfaT |
29.2  eferT % Y@ AT %1 19 fafaw |
29.3  3cAleh WEMEPR ol JINd HEMEPR & SIS dlel STk SeTdTi sl AT
fetfae |
29.4  URMETE g 1 A1 frRae st W aetan usem R S g |
29.5  gfequr 3TafeRT & AT USIEH UTeH o Y@ & ST A1 ffau |
29.6 Il o ferga anforsy ST iy &= 1 I foafew |
29.7  3TshieRT < fafya iy & o1 A forflau |

30. feu ¥ v &% TsHifaesh W@T-amE § feferRaa ara dimiees @emon 3  fohegl qi ot
3z gl g 3ifeha Ffe 3 3k feafae 5x1=5
30.1  =IHa9 SHEEIT 9 a1l U9 (2011)

30.2 T 3T § uvh U

30.3 TG H Ueh Y@ TYH-T7H

30.4 TRE@US Y Af€T @ 1 Teh g,

30.5 T Y T WIS @ 1 Ueh g
30.6 TENIY H WiIg-3T%h G ol Ueh hrg,
30.7  AlCh U Th AL I-T<H

e : Trafaiaa w7 Faa giEaTim el & foe wea @@ 30 % @A w § | Be
T o IR G : 5x1=5
30.1  IaH SHEEA B9 (2011) ITet T o1 AW feafew |
30.2 T 3cTEH T 31U TS w1 A feARa |
30.3 3| TN 1 A fetRau &t Tora § yg@ Ty -u<H fera 2 |
30.4 TR@US U feq dfel @ g o1 9 faIRaT |
30.5  He Yoo H fRud B @ <heg ot A fotfau |
30.6 HEWIY H ferd g - 3%k @ g o1 9 fafau |
30.7 3G TIH %1 AW frRau et ehicsh § SIiga ag-oaq fua & |
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Note : The following questions are for Visually Impaired

Candidates only in lieu of Question No. 29. Answer any five.
5x1=5

29.1 Name the major seaport of South Africa.

29.2  Name the major airport of Australia.

29.3 Name the inland waterway that connects Atlantic Ocean and
Pacific Ocean.

29.4  Name the Asian peninsula where nomadic herding is practiced.

29.5 Name the major area of commercial livestock rearing of South
America.

29.6 Name the area of extensive commercial grain farming of
Australia.

29.7 Name an area of mixed farming of Africa.

30. On the given political outline map of India, locate and label any five of
the following seven geographical features with appropriate symbols: 5 x1=5
30.1 The state with the lowest population density (2011).
30.2 The state leading in the production of sugarcane.
30.3 A major sea port in Gujarat.
30.4 A copper mining centre in Jharkhand.
30.5 A manganese mining centre in Madhya Pradesh.
30.6  An Iron-ore mining centre in Maharashtra.
30.7  An international airport in Karnataka.

Note : The following questions are for Visually Impaired

Candidates only in lieu of Question No. 30. Answer any five.
5x1=5

30.1 Name the state with the lowest population density (2011).

30.2 Name the leading state of sugarcane production.

30.3 Name the place where major sea port is located in Gujarat.

30.4 Name the copper mining centre located in Jharkhand.

30.5 Name the manganese mining centre located in Madhya Pradesh.

30.6 Name the Iron-ore mining centre located in Maharashtra.

30.7  Name the place where international airport is located in Karnataka.
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